=
=

&

Zro z}ad
A7 =&

H7]

..._“_..u
P

A




NN \/gznmog o, n o] @S Fstolet




3. V16.9 x V640 & AAEHH?

© 88 @104 ® 136 @ 144 ® 1040
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V16.9 X V640 = %)x 64x10=13x8 =104
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5. %+%_ V2(2+ V6) = xV2+yV3 & o, FEl4 v,y of ehsto]

x+y o 27
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=2V2-2+3
Lx=2,y=-2
Lx+y=2+(-2)=0
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a= V5, “*i + B 25 Sl
a— a
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o2 3= AFTR9 gFolt, o 5 Folx & o|&sto 1
P2 T 5 e A2

Ea 0 1 2 3

40 6.325 6.332 6.340 6.348

41 6.403 6.411 6.419 6.427

42 6.481 6.488 6.496 6.504

43 6.557 6.565 6.573 6.580
O 6.431 @ 6.287 @6.573 @ 6.590 ® 6.661
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V11 = 3. x xx °|E2
5+ V11 = 8.x xx ©] Fr},
a=8b=(5+ VIl)-8=-3+ V1L
na-b=8-(=-3+ V11) =11 - Vi1




